K

LIAL ElL 7} 2E HET = 28 S2 2H| 22 A oldA S&/IX

=5 4Y/HIE o[0ix|

My
THE!:

AR T

2 E Est Xl

ZE 535.8.

AE|QlE|A AR HHT:

= E 33 M2l

LIAL £ 2]5 1.4305.

= E1.4034.

H2E, B3EX| k=

LIAL £ 2]5 1.4305.

A2 El1.4305.

M o2

Bk

&= ' Fst, odob, 24 A3t %2
AEQIFA AE! H{A:

2 E Fst oot 2 233

HZE Zs odot W =S¥ IR S

o o4
HT

ojo 22 Ojo |m o J
i

]
Ral
Ral
rr
i
%)
oot
=
lo
ro
ilal
2 oy
Y
A
1o

T
A

mu mo |> °*
HH O Ml

)]
r ok

1

= .-|==:':: |

LU
L)

o
1
30
I

2.1 9, BY MEICiE
M2 gEO X5 BE

23 HMod)o| 7ts st ALt o0
ST 7tsELch

O 03 ZO MW T

ol
-
u e

e
Hu

o
ol
=

B0
rlo
4r
T
fjo
do
rok
k¢
0
x
|m
=
N
N
o

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



(
I (=] Ol= AEISS A C: =
LIAL &3} 71 2E L EJ| = 28 =2 2H| 1|2 oIEA S8
=M
‘ c‘f)
{3 | Swi1
AN
~l
~J
h
—~ )
~J
| I
* D -0,02
-0,04
=29
FEHS EfQd =X A M D D1 D2 L L1L2 L3 14 AEEZ3 SW1 SW2 Fx30° NES; EH&
712 A S Bty =
F12.N F22.N
K0341.2903 F AEl 4st 3 M6x0,75 M2 2412 5 3,510 3,5 8 10 0,8 4,5 10
K0341.2004 F AEl 48 4 M8x1 M3 3215 6 7 13 4 10 13 1 6 12
K0341.2105 F AE 43 5 M10x1 M4 3717 7 8 15 5 13 17 1,3 5 12
K0341.2206 F AE 45t 6 M12x1,5 M6 4220 8 8 17 6 14 19 1,8 6 14
K0341.2308 F AEl 43 8 M16x1,5 M8 56 26 10 12 23 8 19 24 2,3 15 35
K0341.2410 F AE 43 10 M20x1,5 M8 6228 12 12 25 10 22 30 2,8 15 34
K0341.2412 F AE 45t 12 M20x1,5 M8 66 28 14 12 25 12 22 30 2,8 15 39
K0341.2516 F AEl 43 16 M24x2 M10 803218 14 28 16 27 36 3,2 20 46
K0341.02903 F  AH|QIEA AE 43 3 M6x0,75 M2 2412 5 3510 35 8 10 0,8 4,5 10
K0341.02004 F AHQIBA AR 45t 4 M8x1 M3 3215 6 7 13 4 10 13 1 6 12
K0341.02105 F AHQIE|A AR 43 5 M10x1 M4 3717 7 8 15 5 13 17 1,3 5 12
K0341.02206 F AHQIEIA AE 43 6 M12x1,5 M6 4220 8 8 17 6 14 19 1,8 6 14
K0341.02308 F AHQIBIA AR 45t 8 M16x1,5 M8 56 26 10 12 23 8 19 24 2,3 15 35
K0341.02410 F AHQIEIA AR 43 10 M20x1,5 M8 6228 12 12 25 10 22 30 2,8 15 34
K0341.02412 F  AEQlEA A& 43 12 M20x1,5 M8 6628 14 12 25 12 22 30 2,8 15 39
K0341.02516 F AHQIBIA AR 45t 16 M24x2 M10 803218 14 28 16 27 36 3,2 20 46
K0341.12903 F  AEQlEa A& HIZ@8t 3 M6x0,75 M2 2412 5 3510 3,5 8 10 0,8 4,5 10
K0341.12004 F  AEQlEA A "HIZ@g 4 M8x1 M3 32156 7 13 4 10 13 1 6 12
K0341.12105 F AEQIBA A H|@s 5 M10x1 M4 3717 7 8 15 5 13 17 1,3 5 12
K0341.12206 F AHQIE|A AR HIE% 6 M12x1,5 M6 4220 8 8 17 6 14 19 1,8 6 14
K0341.12308 F  AHEQlEA A& HIZs 8 M16x1,5 M8 5626 10 12 23 8 19 24 2,3 15 35
K0341.12410 F AE|QIBA AR H|@s 10 M20x1,5 M8 6228 12 12 25 10 22 30 2,8 15 34
K0341.12412 F AHQIEIA A HI4% 12 M20x1,5 M8 66 28 14 12 25 12 22 30 2,8 15 39
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
1L (=) (- = —
LIAL E13} 712E] HET| = AE =2 AH|2lg|A olHA E8K
E=S oY%
F2HS B 2 A EH D D1 D2 L L1L2 L3 L4 AEE3 SW1 SW2 Fx30° AJE EtM
7|12 A S Bt E2
F1 2 N F22. N
K0341.12516 F  AEIQIEA AE HZ3F 16 M24x2 M10 803218 14 28 16 27 36 3,2 20 46

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



